This report contains the transfers results.

4,097

820

Valid Votes
Positions to be Filled
Quota

Ward 5 - Oban North and Lorn

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Linda BATTISON	Independent	466
Kyle CAMPBELL-RENTON	Independent	198
Veronica DAVIS	Scottish Liberal Democrats	267
Angus FILES	Alba Party for Independence	117
Kieron GREEN	Independent	632
Luna MARTIN	Scottish Greens - Think Global Act Local	396
Julie MCKENZIE	Scottish National Party (SNP)	1,254
Andrew VENNARD	Scottish Conservative and Unionist	767
	Tota	4,097

Candidate Julie MCKENZIE Elected with 1,254 votes, being in excess of the quota of 820

This report contains the transfers results.

Stage 2 - Surplus of Julie MCKENZIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda BATTISON	70	0.34609	24.22630
Transfer to Kyle CAMPBELL-RENTON	73	0.34609	25.26457
Transfer to Veronica DAVIS	69	0.34609	23.88021
Transfer to Angus FILES	121	0.34609	41.87689
Transfer to Kieron GREEN	136	0.34609	47.06824
Transfer to Luna MARTIN	539	0.34609	186.54251
Transfer to Andrew VENNARD	16	0.34609	5.53744
No further preference	230	0.34609	79.60070
Not transferred due to rounding			0.00314
	Total		434.00000

This report contains the transfers results.

Stage 3 - Exclusion of Angus FILES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda BATTISON	25	1.00000	25.00000
Transfer to Kyle CAMPBELL-RENTON	19	1.00000	19.00000
Transfer to Veronica DAVIS	11	1.00000	11.00000
Transfer to Kieron GREEN	18	1.00000	18.00000
Transfer to Luna MARTIN	27	1.00000	27.00000
Transfer to Andrew VENNARD	6	1.00000	6.00000
Transfer to Linda BATTISON	12	0.34609	4.15308
Transfer to Kyle CAMPBELL-RENTON	10	0.34609	3.46090
Transfer to Veronica DAVIS	10	0.34609	3.46090
Transfer to Kieron GREEN	17	0.34609	5.88353
Transfer to Luna MARTIN	42	0.34609	14.53578
Transfer to Andrew VENNARD	3	0.34609	1.03827
No further preference	11	1.00000	11.00000
No further preference	27	0.34609	9.34443
Not transferred due to rounding			0.00000
	Total		158.87689

This report contains the transfers results.

Stage 4 - Exclusion of Kyle CAMPBELL-RENTON

245.72547

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda BATTISON	49	1.00000	49.00000
Transfer to Veronica DAVIS	12	1.00000	12.00000
Transfer to Kieron GREEN	41	1.00000	41.00000
Transfer to Luna MARTIN	80	1.00000	80.00000
Transfer to Andrew VENNARD	8	1.00000	8.00000
Transfer to Linda BATTISON	10	0.34609	3.46090
Transfer to Veronica DAVIS	4	0.34609	1.38436
Transfer to Kieron GREEN	12	0.34609	4.15308
Transfer to Luna MARTIN	37	0.34609	12.80533
Transfer to Andrew VENNARD	2	0.34609	0.69218
No further preference	27	1.00000	27.00000
No further preference	18	0.34609	6.22962
Not transferred due to rounding			0.00000
	Total		245.72547

This report contains the transfers results.

Stage 5 - Exclusion of Veronica DAVIS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda BATTISON	56	1.00000	56.00000
Transfer to Kieron GREEN	60	1.00000	60.00000
Transfer to Luna MARTIN	58	1.00000	58.00000
Transfer to Andrew VENNARD	53	1.00000	53.00000
Transfer to Linda BATTISON	11	0.34609	3.80699
Transfer to Kieron GREEN	11	0.34609	3.80699
Transfer to Luna MARTIN	27	0.34609	9.34443
Transfer to Andrew VENNARD	4	0.34609	1.38436
No further preference	63	1.00000	63.00000
No further preference	30	0.34609	10.38270
Not transferred due to rounding			0.00000
	Total		318.72547

This report contains the transfers results.

Stage 6 - Surplus of Andrew VENNARD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda BATTISON	198	0.02688	5.32224
Transfer to Kieron GREEN	264	0.02688	7.09632
Transfer to Luna MARTIN	41	0.02688	1.10208
Transfer to Linda BATTISON	4	0.00930	0.03720
Transfer to Kieron GREEN	6	0.00930	0.05580
Transfer to Luna MARTIN	4	0.00930	0.03720
No further preference	331	0.02688	8.89728
No further preference	11	0.00930	0.10230
Not transferred due to rounding			0.00183
	Total		22.65225

This report contains the transfers results.

Stage 7 - Exclusion of Linda BATTISON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kieron GREEN	274	1.00000	274.00000
Transfer to Luna MARTIN	103	1.00000	103.00000
Transfer to Kieron GREEN	34	0.34609	11.76706
Transfer to Luna MARTIN	26	0.34609	8.99834
Transfer to Kieron GREEN	100	0.02688	2.68800
Transfer to Luna MARTIN	7	0.02688	0.18816
Transfer to Kieron GREEN	1	0.00930	0.00930
No further preference	219	1.00000	219.00000
No further preference	43	0.34609	14.88187
No further preference	91	0.02688	2.44608
No further preference	3	0.00930	0.02790
Not transferred due to rounding			0.00000
	Total		637.00671